

Bill To:	
Carolyn Mumm	
•	

BAR	0	-	
		U	

Invoice Number: Quote 154 Invoice Date:

Feb 11, 2021

Page:

Description	Amount
2 Men for 40 hours each at \$40/hr a person	3,200.0
Dump truck for 24 hours at \$95/hr	2,280.0
John Deere Excavator for 24 hours at \$180/hr	4,320.0
Move in Fee	900.00
John Deer Loader for 16 hours at \$125/hr	2,000.0
Move in Fee	400.00
Dump Fees- 3 debris box at \$1,200/each	3,600.0
Dump Fees- Additional fees	900.00
Robert Mumm	
Dump Fee- 1 debris box/additional fees	1,200.0
4	
	,
	40,000,00
	TOTAL 18,800.00



Bill To:		
Robyn Barnes		

		1	-	
	W	U		

Invoice Number: Quote 153 Invoice Date:

Feb 10, 2021

Page:

Description		Amount
men for 10 hours at \$40/hour a person		800.0
ump Truck for 10 hours at \$95/hr		950.0
ump Fees		500.
		17
	TOTAL	2,250.00



Bill To:	
Paula Bazzell	

Invoice Number: Quote 152 Invoice Date:

Feb 10, 2021

Page:

Description		Amount
2 men for 16 hours at \$40 <i>l</i> hr a person		1,280.00
Dump truck for 16 hours at \$95/hr		1,520.0
John Deere excavator for 10hrs at \$180/hr		1,800.00
Move In Fee		900.00
Dump Fees- 1 debris box		1,200.00
Dump Fee- additional fees		800.00
	TOTAL	7,500.00



Bill To:	
Jessica Singleton	

Invoice Number: Quote 151 Invoice Date:

Feb 10, 2021

Page:

Description		Amount
2 men for 16 hours at \$40/hr a person		1,280.0
Dump Truck for 32 hours at \$95/hr		3,040.0
John Deere Loader for 12 hours at \$125/hr		1,300.0
Move in fee		400.00
Dump Fees		1,800.0
	TOTAL	7,820.00
	TOTAL	7,020.00



Bill To:	
Kathleen Dobbins	

Invoice Date:

Feb 10, 2021

Page:

Description		Amount
men- 8 hours a \$40/hr a person		640.0
Dump Truck for 8hrs at \$95/hr		760.0
		400.0
ump Fees		400.
		5
		_
	TOTAL	1,800.00
	TOTAL	1,000.00